Clndidll_ul "rrf : -
idsten sat the Business 4 orm

g . sdnten (home
la Nl“’d,‘ngModulc:ndrh-_-nm, ing 3. 20 Finncis) Saudies exnminstion this year: 6 479 cund 44
Fhy ;ﬁ,ﬁc: sst the English papers 778 2 362 choge ghe g’.f,;,, _'M,T;.mt;-:mm Approwimasely $6%
2 of l
r‘f’(r
gectio”
ere 30 multiple-choice question,
v mm"mm.mwm‘“umofmm
- atage correct was lower in the followmg Questions
which of the following statem,
I 1S about the World Trade Organization is/are correct?
1 It enforces the rujes of internationaj
) It hclp.? developing countries il_'G'na tradc_among members.
() It eliminates trade barriers am‘):;-‘:mu;trrshdhg opportunities.
A. (1) only 11%
B. (1) and (2) only* El'l%;
C. (2) and (3) only (23%)
D (1), (2) and (3) (49%)
rld Trade Organization lowers, i P
The Wo instead of eliminating trade barriers among members.
1 February 2021, Mr ;
tf:: ot o e mottes b I(-:’f:ds;ft;g r: ;e:a:l f-;l.'m selling computers. On the same day, the firm pumhase;’,-
damaged computers were returned to theupp ler at a cost of $4 500 each. During February, two sets 0
of $7 000 each. supplier and three sets of computers were sold at a selling price
t is the balance of th )
Wha € purchases account of the firm as at 28 February 20217
A. $22 500 (16%)
B. $31 500 (5%)
C $36 000 (46%)
D. $45 000* (33%)

The purchases account only records the cost of goods purchased. Returns outwards and sales are separately
recorded in other accounts.
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1] Wi of the wlowing tLomeY

errors in the account balances.

! balance agrees, there are no
in If the ?:,,11:“ shows all the account b;!mccs ofa ﬁrml.! .
{2) The mi the debit side of an account 1S smaller than the credit side, the accouny
(1) If the total of the ! ial balance. lang, .
shown in the credit column of a trial ba %
; Al (1) only -
B (2) only (43;1.)
C. (1) and (3) only (79:)
D. (2) and (3) only* (360/3

i i i unt balances, €.g. an error on ope .
sven if the trial balance agrees, there may still be errors in the acco 8. a ne side
,:;-,‘,;;mcarcd by an error of the same amount on the other side. If the tt?lal of the c_leb:r side of an account jg ::l?y be
than the credit side, the account has a credit balance, which is shown in the credit column of the tria] b&'ﬂncea"er

1S. Which of the following about the statement of financial position is/are correct?
(1) It reveals the liquidity of a firm.
(2) Non-current assets are listed according to their total amounts in descending order.
3 It reveals the financial status of a firm for a period of time.
A. (1) only*
B.  (2)only (2%,
C. (1) and (3) only (3%)
D. (2) and (3) only (66%)
(9%)

The statement of financial position shows the balances of assets, capital and liabilities of a firm at 5 Certaj
0 time

company’s information manager to the marketing managervfonqwm
() process data about the frozen food m i
‘ 0 arket in Ho
) collect information about suppliers of freezing s;s%elr(nzng
(3) set up a salary scheme for the salespersons
A (1) only*
B. (1) and (2) only
280
C (2)and (3) only &SS)
D. (I),2)and 3) (2';;
0
(5%)




Performance in General

o e =

rpornzion.

Very g

ood . s atjional co
& Many candidates were able 1o explain that usiness is a multination

theb

of ownership. Som -andidates did not make a comparison of the disadvantages
) vd characteristics of a public limited company-

(ii) _Poor. Most candidates

: ake
fai p d help investors m
Investment decisjons, § P4 ey explain how the Hang Seng Index coul

Hang Seng Index reflected

Fair. Most candidates
price of the real estate
for the increase in sh
scenario,

; i share
were able to state that the new policy would lead t9 an mcrealse. ":htgieason
dew:llop ment company. However, many of them failed to exp a:i?or the case
are price with reference to the background of the company an

Poor. Some candidates wron

. " o ré
: gly listed out the responsibilities, instead of the rights of the sha
vestors.

Good. Many candidates were able to prepare the two nominal accounts and complete the dc])lul;]I:
entries. However, some candidates failed to identify the nominal accounts and prepared all t
corresponding accounts listed in the bank account.,

Satisfactory. Many candidates were able to calculate the overdraft balance of the bank account.
However, some of them classified the bank overdraft balance as a current asset 1.nstead.<_)f a
current liability. Some candidates showed the other parts of the statement of financial position,
which was not required by the question.

Satisfactory. Most candidates were able to state the business entity concept as answer. However,
some of them failed to explain the meaning of the concept with reference to the case context.
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-yt the working capital ratio and

able 10 ™o t the figures i ac
ycendi L gaes filed to present the IBUres in the g, °
Good- MY ver, s0m€ € decimals:
qest ratio- H “i‘anS\ er to WO dect
le or LY P
. t the two ratios were hj
oint out a igh
were able 0 P Girm would be able to meet its SEO::I an

verages 80 odidates mentioned the large difference betwc?m
v Cca that there wefe current assets tjeq \ e;:n
the ratios with the casual rule of

thyroy
n in the question. humt,

co 1
€ justry averages BV

ain the advantages of adopting unity
of

; iled to expl .
idates faile me candidates just explaip i
e

poor. Many cand =4
direction with reference to the casé scenario. S

the benefits from the view of the staff.

Very good. Many candidates were able to prepare the income Statemen

arrive at the net profit figure comrectly. However, some candidateg fail a
present the income statement in 2 pl.'oper fonn_at. Proper indica‘[i ed
subtraction of certain items was not seen in some scripts.

On of

Fair. Some candidates were able to explain one use to the governm
income statement of a business. SNt of the

Poor. Only a few candidates were able to draw the i

: . : ] organisati

business. Most candidates failed to provide a proper title for th 10n chart of the
three department managers. € Superior of the

g I'.

Poor. While ma: i
manager exercis?; ;Znﬁ;iazejt]:v ere able to explain how the hy
: : ority, ; ma
explanations regarding its staff auth):)r;nany of them failed to . ‘:lpresourceS
€

General comments and Suggestions




(Accounting .‘\lndulq
r2A
rapc

<ection A

L.
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Number Performance in General

Satisfactory, Mog candidates provided correct answers for
did not show the rental income jn

OWing (item L) 4 bal

: e
alt with by som

; s (items F ang M) at year end were not properly de

candidates,

. ividend income,
Good. Most Candidates were gp)e to update the cash at bank accoum,‘w.llzddf{l:wcvcr, many
elecr_ricity Expenses, bank €harges and the credit transfer from Sunny Limi cz-lndida:cs did not
candidates fajjeq to credit the Post-dated cheque of Fanny Company. Some s at 31 December
notice that the origjng) balance carried down of the cash at bank a_t:courlld:l bit balance in the
2020 was a credj balance, j.e. apn overdraft, and wrongly showed it as a d¢ ccount names as
updated cash at bank accayuny. Some candidates failed to use the correct a
descriptions of the Postings in the cash at bank account.

’ — ent correctly.
Satisfactory, Many candidates were able to prepare the bank reconciliation ;[2::[:5 it
However, some candidates confysegd ‘unpresented cheque’ with ‘uncredited dep

Fair. Many candidates fajleq ¢
accounting principle for the sc
concept’ as thejr g
revenue should be

nt
o identify the ‘realisation principle’ as the m°st .r::;‘;.ﬁa;
enario. While some candidates wrongly _statcd : el in that
nswer, others stated the appropriate principle but failed to expla
recognised only after the services have been provided.

Satisfactory. Most candidates were able to identify direct material costs and direct labour COStch
as production costs as wel] as variable costs, However, some candidates mls}akenly tTeated
selling expenses as production costs. While some candidates wrongly included ﬁxe

manufacturing overhead costs in the calculation of contribution margin, others were elt_hTr
unable to apply the sales mix ratio in the computation of contribution margin for multiple

products or wrongly worked out the contribution margin per unit instead of the contribution
margin per sales mix.

Poor. Many candidates failed to determine the contribution margin and sales quanti_ty required
to break even for surfboards when the sales quantity for kayaks and.paddles were given. Some
candidates wrongly computed the breakeven point at product level instead of company level.

air. Many candidates were able to include the target profit in the calculation. However, they

F
failed to determine the contribution margin required to achieve the target profit for kayaks and
paddles when the sales quantity of surfboards was known,
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- L 'Gncd Mt candidses mm:e:.n:p:::: ;:"dk:;n‘ndin! or
. column cush book. However, Sy o oy the iy
/ : ,_,”dmmsraurmwmﬂveushbooks%"%

e,
| mot mrrive mt the correct amounts for the senlcmnu.ndmh d?!c%idm

\.;__"_‘_

o eredil porcheses and credit sales.

40% Satisfactory. M’ost candidates were able to record

Poor. Most candidates failed to find out the total amgy,

of ur,
sactions that took p]acepberi'v’ases. Somc
ive at the closing inventory as at 3, cen

h, gt 1 Aprj;
generally weak jn Presenting their answers jn Statemeng form, andldates Werg
Sarisfacrory. Most candidates were able to record the 8enery)
the trade payapjes account. transa“i‘)ns i

€lves tg [ice: 8ureg
the calculatjon of working capita). - hst"‘g the

le to incorporate the chy i

0 In ; Nges der;
- ' _ Ution Margin of Prodyct X N‘[, oy Tom e
€ the reviseq direct laboyr cost and selling pric;e

(c)
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vErenly celoslmed full.vesr depracialdon on & haily

thzt was g in mue by the cc-_'.-.-;'.a:'..\' i
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i

(2) o calculate the ‘

s — t
};’lr,_ Mot candidates were able 1o show the zppropTI2ic e
closing balance of the retained profits in a statement form.

s sition
oL Poor. Many candidates were able to prepare the statement of financial post

i redit
i the proper format However, many candidates failed 10 Mﬂf‘f‘t::\r:l; date
transfer from a customer pI'OPCT'iy. Some candidates ignored the m nt liability.
of the debenture and mistakenly listed the debenture 2s @ OGRS

(b) d be

Poor. Most candidates failed to explain whether the final dividend shou
recorded as a liability of 2020.

) 5 2 i st
8 o Lo Poor. Many candidates were able to calculate the interest on drawings, intere

on capital and share of profit accurately, but they failed to use proper account
names (i.c. appropriation) to describe these items in the current account. Some
candidates mistakenly treated the unpaid interest on Wu's loan as an
appropriation of profit and recorded it in Wu's current account.

(b)

Good. Many candidates were able to handle the treatment of goodwill properly,
but some candidates failed to calculate the profit on revaluation accurately.

(c) Poor. Most candidates failed to point out the reason for asset revaluation upon
the admission of a new parmer.

(d) Satisfactory. Many candidates were able to use correct account names as
descriptions for the accounting entries in the realisation account. Some
candidates did not record the realisation expense in Chau’s capital account
since they ignored that Chau paid the expense on behalf of the partnership.

(e) Poor. Many candidates failed to transfer the correct balances of the current
accounts to the capital accounts upon dissolution of the partnership.

General comments and suggestions

Candidates are expected to possess a broad understanding of the topics in the curriculum and be able to give
appropriate answers based on the scenarios given in the questions. Appropriate account names should be used to
describe entries in the accounts and answers should be presented in accordance with the requircments of the
questions. Candidates should show workings in their answers so that they can get some step marks even if the
final answer is wrong.
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aﬂ were able © explain th° meanite 01 ersggsl selling. However, some
., ManY Cai?jlfat;c ion promotié the products bY ==
Faif. iled 10
} ( ,;sndldaws o :
didates were able © describe thed advantages gf “f%mg personal selling
_ candid®’® ’ explain the a vantages with reference to a c )
() Fﬂlrft::nzomc andidates failed 10 P omputer
Hg\! :
cornPa“)”
¢ candidate® were able 10 identify the tYPE of target marketing strate
) snnsfﬂ‘“’ry‘a s andidates failed t0 state the disadvantage of concentrated marketing th atgl_’ :
O H"“‘"’f},ﬂls 11 mark : segmen .
ies ©
dates Were able to explain the causes of sales-volume variance. M
Jume variance and material/labour variance. Cons il
. equently, th
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Sarisf; ) "
Hitalory Many candidames were able <5 other than parents for

technique, though some candidates wrongly
daia collection
‘ ) st with @
Sal‘ufacr:ory. Many candidates were able to give ’ e
valid objective as their answer. =
) some
Poor. Many candidates failed to state the correct type of ins ey

of them were able to explain the purpose of taking out an insurance.
morale of the

Fair. Some candidates faj { i ve the
iled 1o suggest ways to Impro ]
salespersons with reference to Lheg%hamcteristics of Theory X. Tclc;cy =
quoted from the case the reasons why the employees were dissatisfied.
Fair. Many candidates failed to calculate the net present value of the p;_rg:l:
correctly when the cash flows are generated bi-annually, though some 0
were able to show the discounting process.
Poor. Many candidates wrongly gave external environmental factors as I?‘CIT
answers. Some candidates explained the advantages of setting up the e-shop

without considering from the perspective of key business functions.

Fair. Many candidates did not understand the meaning of total assets turnover
and failed to calculate the ratio correctly.

Poor. Many candidates did not understand the meaning of total assets turnover
and so they were not able to explain why the ratio would drop in the case
scenario.

Fair. Many candidates explained ‘time frame’ and ‘interest burden’ as the
reasons to support the suggestion of sourcing the funds in other ways.
However, some of their explanation was unclear and inaccurate.

Poor. Some candidates were able to explain the benefits of e-marketing
generally, e.g. more promotion opportunities and no time constraints.
However, many candidates failed to link the explanation to key opinion leaders

as stated in the case.

Satisfactory. Most candidates were able to explain the disadvantages of
recruiting the senior manager externally.

Poor. Some candidates were able to give an advantage of recruiting the senior
manager via a headhunter, but many of them only provided the benefits of

external recruitment.
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